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Fig. 3
() Find the Norton current for the followin

- circuit between point AB with R|=R2=R3-]
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)  Solve for currents in all the branches using
l [

nodal analysis. 7.5
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4, (a) Calculate Fourier transform of waveform in
Fig. 3. T
(b) Find Fourier series of the following
waveforms. 7.5
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5, (a) Express

/ 8
Paramerer  in rms of v
‘ parameters. ’
| 7.5
(b) State NECCSSary condition for driy

Ing point

function.
7.5
(s “ind the voltage (ransfor o
6. ;yd) I l'Il g¢ ransfer [Uﬂctlun V:“ﬂ V]“‘,
v with outpul open circuited.
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(b) Design low pass filter with Ry = 600 ohm.,

L. =000 Hz 7.5
7. (a) Design a high pass filter with Iy, = 600
ohin, 1, = 600 Hz. 7.5
(b) Find convolution of two pulses. 74
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